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NAME

10-DIGIT PUID #

RECITATION INSTRUCTOR

RECITATION TIME

LECTURER

SOLUT)IONS

INSTRUCTIONS

1.

7.

There are 11 different test pages (including this cover page). Make sure you have a
complete test.

Fill in the above items in print. Also write your name at the top of pages 2-11.

Do any necessary work for each problem on the space provided or on the back of
the pages of this test booklet. Circle your answers in this test booklet. No partial
credit will be given, but if you show your work on the test booklet, it may be used in
borderline cases.

No books, notes, calculators, or any electronic devices may be used on this exam.
Each problem is worth 8 points. The maximum possible score is 200 points.

Using a #2 pencil, fill in each of the following items on your answer sheet:

(a) On the top left side, write your name (last name, first name), and fill in the little
circles.

(b) On the bottom left side, under SECTION, write in your division and section
number and fill in the little circles. (For example, for division 9 section 1, write
0901. For example, for division 38 section 2, write 3802).

(¢) On the bottom, under STUDENT IDENTIFICATION NUMBER, write in your
10-digit PUID, and fill in the little circles.

(d) Using a #2 pencil, put your answers to questions 1-25 on your answer sheet by
filling in the circle of the letter of your response. Double check that you have filled
in the circles you intended. If more than one circle is filled in for any question,
your response will be considered incorrect. Use a #2 pencil.

After you have finished the exam, hand in your answer sheet and your test booklet to
your recitation instructor.



MA 166 FINAL EXAM Spring 2006 Name: Page 2/11

1. If@=i+7+ k and b=—i+ J+ E, find a unit vector orthogonal to both @ and b and
having negative k-component.
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2. The vertices of a triangle are P = (—1,0,1), @ = (1,1,3) and R = (2,1,0). If 0 is the
angle of the triangle at P, then cosf =
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9. The trigonometric substitution 2z = sin # converts the integral / (1— 4x2)%da: into
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10. The region in the first quadrant bounded by the y-axis, the graph of z +y = 2 and
the graph of y = 22 is revolved about the z-axis. The volume V of the solid generated
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11. The region bounded by the graph of y =sinz, 0 < z <7, and the z-axis, is revolved
about the y-axis. The volume V of the solid generated is
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12. Consider the lamina bounded by the curves t +y =1, z = 0, and y = 0 and with
density p = 1. If (Z,7) is the center of mass of the lamina, then T =
"
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13. Suppose that Zan = —. Let b,, = 2a,, and s,, = by + by + ---+ b,,.
Which one of these statements is true?
» A. lim s, =mand lim b,=0
n—o0 n—o0

B. lim s, =7 but lim b,, cannot be determined

n—oo n—o0

C. lims,=ocand lim b, =7
n—o0 n—oo

D. lim b, =0 but lim s, cannot be determined
n—o0 n—o0

E. lim s, =0 but lim b, cannot be determined

n—oo n—oo

O
w .-
%bn: Za,, ——2-2‘1 =2 5=
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15. The series (1 + —2)
o n A. Converges by comparison with
— 1

i
B. Converges by the ratio test

oo
Lo ot n% C. Diverges by the ratio test
D. Converges by the limit comparison test

X E. Diverges
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16. Which of these series converge?

o 3 Liwit tamP.te.st N A. Al
" n+,/—“—nz+ ol w:[‘v'." ELI B. Only (III)
(1) Z sin’ n Cnmpaﬂ'ron tesl oo N C. Only (I)
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wWnV,
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17. Of the series

o > %13—” Im > (nr (1+%—), (I > \/(;3—1%

(T> tonV. by A't ser. fesino A. (I) and (III) converge absolutely
bull e %‘f wm:mUa Z s B. (I) and (II) converge absolutely

comrm = ‘LQ Yo e

(L) Lim - (1+1) DNE

Y~ 00 .
5 saxies AV,

-)6 C. Only (IIT) converges absolutely
D. All converge but none converges absolutely

E. (I) and (IT) diverge
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18. If f(z) = tanz, the terms of the Maclaurin series of f up to the third power of z are
3
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2

,19' The radius of convergence of the power series Zl Z#I)' z" is se A oo
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20. Match the functions with their Maclaurin series.
oo
(1) e® (a) Z (-D)™z™, -1<z<1
n=0
1 z2 23
(2) 1+2 (b) 1+ZB+§+§+ L, o<z <oo
(3) 1_3_393 (c) z+2°+23+..., -1<z<1
2,.2 4,4
(4) zsinz (d) 1—3; +34:f — ..., —00< <00
4 6
(5) cos3z (e) 22— 2 , —00 < z < 00
3! 5!
<o n 2 2
x %X X b
(1) € = EO;T =1+ x+ %ﬁ‘ 3 T (o) A. 1b,2¢,3a,4d,5¢
- * co o
) A=t = (0 =YX (09 B. 1e2a,3¢4b,5d
44+% 1—('” h= i C. 1a,2b,3d,4c,5e
@) = x E X’ = x(wx\-x-r- ) D. 1b,2¢,3a,4e,5d
1-x =0 = xaexZr X e ( ) X E. 1b,2a,3c,4e,5d
E 5
4 SNY = x -~ X X -
) = 1— 5T
Xemmx = %X = -!’—"'""' ()
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21. The graph of the polar equation 7 = 1 + cosf is
gl o oo 3-5'_-" 2w A. A circle with center at (z,y) = (0,1)

iz L 0 1 2 B. A circle with center at (z,y) = (1,0)
C. A two-leaved rose

t
#- D. A cardpid with the point farthest
from the origin at (x,y) = (2,0)

s E. A cardioid with the point farthest
from the origin at (z,y) = (0, 2)

22. Convert the polar equation 7 = —2cosf to rectangular coordinates

A, (z-1)2+¢4%2=1
v = - 2rce0sB (z=1)"+y

——

N x B. (z+1)2+32=1
xzﬁ—\:) = —-2X C. 22+ (y—1)2=1
X 2% *“éa-—"-'o D. 22+ (y+1)2=1
wo+2x +1 +\Qq“' =1 E. 22 4+y?=2
(x 4—\)1 + ‘ﬁz =1
23. The curve described parametrically by A. an ellipse
T = 2cost, y = —sini; O<t< g B. a quarter of a circle
is x1 L_f' . 20 C. a half of a circle
-2-; + ":*l;' =1 x >Q y ! D. a half of an ellipse
-0 * & \))s(z,o) > E. a quarter of an ellipse
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24. The length L of the curve in problem 23 is given by
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0

25. The polar form of the complex number —-Z——— with argument between 0 and 27 is
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